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People in Darlington are healthy and supported . o
V
People in Darlington are educated and skilled /%
u )
People in Darlington are financially secure . /%
2

o .

People in Darlington live in sustainable neighbourhoods ////////////:
Our communities are safe and free of crime - %//%%//////% F 7 .
U /////// _ _

Monetary Efficiency Savings Scale of Investment Required Ease of Implementation Speed of Realisation
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UV /) Medium to High Saving U //////)Small to Medium Investment U/ Potential Difficulties to Implement V///////|Between 1 and 6 Months

|:|Tried and Tested Option |:|Wth n 1 Month

Financial Impact Budget Proposals
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What are the potential monetary efficiency savings? // /// // / //
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Children
7

Disabled People
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BME Communities

Faith Communities
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People with criminal
convictions
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Gypsies and

Young People Leaving
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Will the change be
Technological technologically difficult to
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Will the change have a negative
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considerations?




